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The crystal microphone uses the principle of:
a. capacitor.
b. variable resistor.

c. loudspeaker.

d. piezo-electric effect.

An amateur transmitter is likely
interference to broadcast radio or
when operated on any band when it is
100% modulated.

50% modulated.
under-modulated.
over-modulated.

to cause
television

aoop

Which circuit in an SSB transmitter suppresses
the carrier?

a. The oscillator.

b. The filter.

c. The linear amplifier.

d. The balanced modulator.

Which of the following is used to control
thermal runaway in a transistor amplifier?

a. Combination bias

b. Decoupling the power supply.

c. Lowering the supply voltage

d. Using FETs instead of transistors.

To pass SSB through a final power amplifier, the
amplifier must be biased:

a. to operate in a linear mode.
b. class C.

c. class D.

d.

not biased at all.

The active wire in a three-core 240 volt mains
lead would be:

a. black.
b. blue.
c. brown.

d. green/yellow.
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The resonant frequency of a whip antenna can be
decreased by:

a. decreasing the feedline impedance.

b. increasing the feedline impedance.

c. lengthening the antenna.

d. shortening the antenna.

A Yagi is:

a. always vertically polarised.
b. atype of parasitic array.

c. the same as a dipole.

d. ideal for mobile work.

A resistor with a first band of brown, a second
band of black, a third band of black and a fourth
band of gold would have a value of:

a. 10 ohms 5%.

b. 100 ohms 5%.

c. 1000 ohms 5%.

d. 10000 ohms 5%.

A microphone that operates on the principle of
varying capacitance is called:

a. acrystal microphone.

b. adynamic microphone.

c. an electret microphone.

d. acarbon microphone.

What type of detector could be used in a
superheterodyne AM receiver?

a. Product detector.

b. Ratio detector.

c. Discriminator.

d. Envelope detector.

Your final PA in your AM transmitter is self
oscillating at the normal frequency of operation.
To overcome this problem you would:

a. neutralise the final.

b. add a harmonic suppressor.

c. switch off the speech processor.

d. convert the rig to SSB.
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Four 240 ohm resistors are connected in parallel,
and in turn connected in series with two 100 ohm
resistors. The total resistance of this network

would be:

a. 1260 ohms.

b. 600 ohms.

c. 260 ohms.

d. 340 ohms.

The approximate overall length of an 80 metre

centre-fed dipole antenna
a. 80 metres.
b. 40 metres.
c. 20 metres.
d. 10 metres.

The polarisation of an amateur transmission
leaving the antenna is dependent on:

a. the mode of transmission.

b. the direction of the magnetic lines of force.
c. the direction of the electric lines of force.

d. the ionosphere at any given time of day.

What is the principle of operation of a
transformer which allows a voltage to be
transferred from primary to secondary?

a. Mutual induction.

b. Back EMF.
c. Inductive reactance.
d. Ohms law.

The function of a 240 volt mains filter connected

to an amateur transmitter is to:

a. stop RF interference from the mains getting
into the transmitter.

b. stop RF interference from being fed to other
equipment via the mains.

c. filter the 240 volt mains.

d. change the incoming AC to DC.

To forward bias a silicon diode, what voltage is
required?

oSV 2 V.,

b. 03Vto04V.

c. 0.1Vto0.2V.

d. 0.6V1to0.7V.

Figure A.1
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‘What type of transistor is shown in Figure A.1?
a. NPN.

b: "PNP.
c. FET.
d. SCR.

‘What is the purpose of using a bridge rectifier in

AC/DC power supplies?

a. To prevent radio frequencies entering the
power mains.

b. To improve the high frequency response of
audio amplifiers.

c. To convert the AC to pulsating DC.

d. To bypass the direct current to earth.

Which class of amplifier is linear when used as a
single-ended RF amplifier?

a. Class A/B.

b. Class A.

c. Class B.

d. ClassC.

Comparing a three-element beam to a six
element beam, the six-element beam:

a.  works better because it costs more.

b. has a narrower bandwidth and more gain.

c. has a poor front-to-back ratio.

d. hasalower SWR.

The DC current range of a moving-coil meter
may be increased by adding:

a resistor in parallel with the meter.
aresistor in series with the meter.

a diode in parallel with the meter.

a capacitor in series with the meter.

el

Which of the following instruments would be
suitable for checking forward and reflected
power in a transmitter circuit?

a. SWR meter.

b. Transistor tester.

c. Moving-coil meter.

d. Digital frequency meter.

The impedance of a radio frequency feed line

must match the antenna and the transmitter

output in order to:

a. obtain maximum transfer of power to the
antenna.

b. reduce the use of open-wire feeder.

c. keep the transmission line as short as
possible.

d. maintain frequency stability.
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A FET is said to have:

a. ahigh input impedance.

b. alow input impedance.

c. the same characteristics as a
transistor.

d. no gain at RF.

bipolar

A capacitor of 47 microfarads is the same as:
a. 0.0047 farads.

b. 47000 nanofarads.

c. 47000 picofarads.

d. 4700 farads.

Atmospheric noise is generally more pronounced
in the 3.5-3.7 MHz amateur band during the:

a. daytime.
b. night-time.
c. winter.

d. spring.

A signal is increased by 20 dB. What is the
numerical power of the gain experienced?
a. 10.

b. 100.

c. 1000.

d. 10000.

The reason for including a bleeder resistor across

the output terminals of a direct current power

supply is to:

a. absorb the ripple component of the output
voltage.

b. discharge the filter capacitors when the
power supply is turned off.

c. protect the diodes from excess current
during switching on.

d. provide an adjustable output voltage.

In a transmitter the oscillator is followed by a

buffer. The function of the buffer is to:

a. allow the use of an unstable oscillator.

b. mix the frequencies to get a higher
harmonic.

c. stop the final stages from loading the
oscillator and causing fast frequency drift.

d. keep the power supply constant.
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What is the function of the carrier reinsertion

oscillator in receiving SSB transmissions?

a. To prevent key clicks being produced in the
audio output.

b. To beat with the local oscillator to produce
sidebands.

¢. To beat with the audio to cancel its effect.

d. To mix with the incoming IF signal to allow
detection to take place.

When tuning a radio frequency amplifier,
resonance of the LC parallel circuit will be
indicated on a meter in the collector/anode
circuit when it:

a. reads maximum.
b. reads minimum.
c. reads zero.
d. reads full-scale deflection.
capacitor has increased capacitance when:

the area of the plates is decreased.
the dielectric constant of the material
separating the plates is removed.

d. the distance between the plates is increased.

A
a. the distance between the plates is decreased.
b.
¢

A transformer designed to provide a secondary
voltage of 240 volts AC, when the primary
winding is connected to a 240 volt supply, would
have a turns ratio of:

Which of the following could be used in a circuit
to protect against current overload?

a. Circuit breaker.

b. Bipolar transistor.

c. Lamps.

d. Capacitors.

Within which frequency band would you place
the frequency of 21.095 megahertz?

Ultra high frequency (UHF).

Very high frequency (VHF).

High frequency (HF).

Low frequency (LF).

a0 oR
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Which property of a quartz crystal gives its
ability to oscillate?

a. The piezo-electric effect.

b. The inductive effect.

c. The voltage-regulating effect.

d. The stability of quartz.

Two 1.5 volt dry cells are connected in parallel
to a circuit. The result will be:

a. doubled current capability.

b. doubled circuit voltage.

c. increased circuit resistance.

d. reduced circuit current.

What is the speed of radio waves in free space?
a. 300000 metres/second.

b. 300 metres/second.

c. 300 000 000 metres/second.

d. 300 000 000 000 metres/second.

The unit of measurement of charge is:
a. farad.

b. coulomb.

c. hertz.

d. joule.

What type of filter is likely to be found in the
output of the final power amplifier in a multi-
band HF amateur transmitter?

a. Band pass.

b. Band stop.
c. Picoupler.
d. High pass.

A varicap diode used as a voltage controlled
oscillator will always be included in the circuit:
a. forward biased.

b. reverse biased.

c. not biased.

d. cut off.

For an oscillator to oscillate it requires:
a. positive feedback.

b. negative feedback.

c. no feedback.

d. neutralisation.
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Parallel tuned traps are sometimes placed in the

radiating section of an antenna to enable it to:

a. operate on more than one band of
frequencies.

b. prevent interference to television receivers.

c. improve the front-to-back ratio.

d. improve its directive properties.

Which of the following modes of transmission
has the narrowest bandwidth?

a. ICW.
b. FM.
c. AM.
d. SSB.

To prevent radiation of radio signals when
testing a transmitter, use should be made of:

a. a shielded transmission line.

b. an indoor antenna.

c. dummy load.

d. SWR meter.

An electrolyte would be found in:
a. lead-acid battery.

b. variable capacitor.

c. coil.

d. zener diode.

You are breaking through, and therefore causing
TVI on a TV set, when you are transmitting on
the 15 metre band. One way of overcoming this
problem is to:

a. install sound bars on the TV.

b. install a wave trap on the TV.

c. install a low-pass filter on the transmitter.

d. install a high-pass filter on the transmitter.
The night-time of the
following layers:

ionosphere consists

a. A, A/B,C,D.
b.. DyBEy Fy.
c.DyFs

d. “EiF.
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